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7. HEe AddsA L.
783.1 + 783.1 + 783.1 + 783.1 + 783.1 4 783.1 + 783.1

> E.

[> HE: 54817

783.14-783.1+783.14-783.1+783.14+-783.1+783.1 = 783.1X7 =
5481.7
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D 6.8x3.27 @ 4.64x 2.65 ® 4.53x3.7
@ 91.86x6.75 @8.48 % 5.25

S5 ~
@D 6.8 x 3.27 = 22.236

@ 4.64 x 2.65 = 12.296

® 4.53 x 3.7 = 16.761

@ 91.86 x 6.75 = 620.055

® 8.48 x 5.25 = 44.52
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11, ©hg 29e 3 9] Welrt 25 cm?
A& A ] 5318 T4,
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> HE 125cm?
AR o] Wol7} 25 cm? o]

Z1o
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]= 5cme| B2
A-SAA 9
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H] 5 x5 x5 = 125(cm?)




12, e AAS (e )% Agsio] s Aoz
el Ao R 28 AL o= AU
184 — 78 = 106
106 x 6 = 636
636 + 3 =212

@D 184 -{(78%6)} +3 =212 @ 184-78 x{(6 +3)} = 212
@{(184—78)><6}+3:212 @ (184 —178) x {6+ 3} =212

® 184 —{(78 x 6) + 3} = 212

ATE ()2 UA ARG FRE{ | 202 ANa
FAT AR AL U AR WS ATT Qo

T3t BAIT eAlEo] BAS WA stR e LheAl R BAlo]
o Q%o 9115 Y& Aotk

et $AE Al

(184 - 78) x 6+ 3 = {(184 — 78) x 6} = 3 = 212 7} & Zo|t}.
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Zt B9 E24] & = e 9 H =
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®1,2,4,5,8,10,11,13,16,17,19,20 — 1278
®1,3,5,7,9,13,15,17,19,21 — 107}
®1~22- 227
@ 1,5,7,11,13,17,19,23 — 87}
® 5,10,15,20 = A<t Y =] — 2074

rr




14. A7 v o7t 247em? & o, Al E 1L e 2] HolE
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A7t3 2] ol g olate] Eolg o, 247x2+26 =
19cm YYrt.
(AFeFlEe) o) =(S1+ of)x o] +2

= (18 4+26) x 19 + 2

= 418 cm?
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whebA] 22 50 H57E 370, 27, 6 7RO B & 34+2+6 =
11(70) Yy
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Z0]7F 7.69cm Q1 A Blo] L 14%Z olof 2AsUHh 24 o HA
AR=R=]

20 Zol7t 3.12cmeHd, o] 2 WA A Ho]Lo] Hol= Y ¢

1479 Ho| g o]0 FAX X9tF AA| 9] do]7} Froty
Yt E&ste] FAAE XL 1373do|BE AA AoloA
A A= HE (312 x 13) TF wijoF ghch,

(7.69 x 14) - (3.12 x 13)

= 107.66 — 40.56 = 67.1(cm)
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@ 50 7N @ 450 A ® 550 7H
@ 150 7N (@)750 di

~&B ~

gt SoA, 712 2 4 J= A
1m = 100cm — 100 + 20 = 5 ()
M2 & 5 Q&= 42 &+
2m—2000m—>200 20 = 10( M)

Z, 7120 5 &, AR 10 22 Y2 = JeE= 3o
0 7Rl F7|URE YS 5 FYT
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25. 3, © 2740 w71 Zol7h Be Aol 70 Eﬁl"JEM,@
a7 of A 2o 1717] gk
A7 Qe 42 stel el el 271 9.-;% 2 54 mu:m
0.25 cm7}H ZQLE T &,
o1¢] 0.759] S W, © ) 1-41 7] 1Al 72‘01%‘3‘—; @A 7342,

@ 69cm @ 87cm 3®)116 cm

@ 145cm ® 145.5cm

~&B

@9 &7 g2 # Er: 58.5( cm)
O] A7|A] & HE: 58.5+2-0.25 = 29.25-0.25 = 29( cm)
O HE: © XHH 0.75
O©2 712 2 B2 © AA 9] (1-0.75) = © HA] 0.25
© HAIx0.25 = 29
O AA =29 +0.25
= 116(cm)




